Homework 7
SNU 4190.310, 2012 7}-&
Kwangkeun Yi
Due: 12/07(Fri), 24:00
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Bon appétit! Help yourself! #HIZ4f! O

Exercise 2 (60pts) “A X} &9 M”
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(* example 1: polymorphic toys *)

let val I = fn x => x

val add = fn x => x.1 + x.1



(*

(*

(*

val const = fn n => 10
in
I71;
add(1, true) + add(2, "snu 310 fall 2011");
const 1 + const true + const "kwangkeun yi"

end

example 2: polymorphism with imperatives *)

let val £ = fn x => malloc x

in

]
Hh

10
"pl"

true

let val a
val b

val c

[ ]
H

in
a := la + 1;
b := "hw7";

!c or false

[
end

end

example 3: polymorphic swap *)

let val swap =
fn order_pair =>
if (order_pair.1) (order_pair.2)
then (order_pair.2)
else (order_pair.2.2, order_pair.2.1)
in
swap(fn pair => pair.l + 1 = pair.2, (1,2));
swap(fn pair => pair.l or pair.2, (true, false))

end

S K I combinators *)

let val I = fn x => x
val K = fn x => fn y => x
val S = fn x => fn y => fn z => (x z) (y z)
in
S (S I)) (8K I)1 (fn x => x+1)

end



